Linear Regression 









Steps to find the line of best fit with the TI-83 or 84
Clear lists:
Press STAT, 1:  Edit 
Put cursor on L1, CLEAR, blue down arrow key



Repeat for L2
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Enter numbers into each list (press enter after each one and right arrow to move to a different list)
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Turn on Scatterplot:



2nd, Y = , 1:  Plot 1








Make sure ON (highlight and press Enter if not)

Type is the first one (upper left)


Xlist: L1 (2nd 1 if need to change)



Ylist: L2 (2nd 2 if need to change)
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Turn on correlation coefficient (r-value)

2nd, 0, scroll to “DiagnosticOn”, press 

Enter Twice

Perform Regression:

STAT, CALC, 4: LinReg
L1 (2nd 1 ), 
L2 (2nd 2 ), 
Y1 (VARS, Y-VARS, 1:Function, 1: Y1)


Press ENTER when on “Calculate”
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Write down equation using a (slope) and
b (y-intercept) values.

y = 0.965x – 1.445 
Graph:
ZOOM, 9: ZoomStat
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Predict:
(To predict a y given an x-value)
2nd WINDOW, set Indpnt to ASK


Then press 2nd GRAPH, and enter x-value into table (must have 

equation entered into y =).

[image: image11.emf]
[image: image12.emf]
